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flathematics

)1 Marks: 1.00

Bookmark
reight of all the 11 players of Real Madrid is 77 kg. If the average of first
t players of Real Madrid is 75 kg and that of the six heavy weight players
1is 79 kg, find the average weight of the player which lies in the sixth
list of players when all the 11 players of Real Madrid are arranged in the
1sing or decreasing weights. (In kg)

srrect Answer) (Chosen option)

).2 Marks: 1.00

Bookmark
:cessive discounts of 20% and then 10% on his food bill of Rs.4150. What is
iid by Jacob? (InRs.)

(Correct Answer) (Chosen option)

).3 Marks: 1.00

Bookmark
a business with Rs.36,000 and is joined afterwards by Arjun with

fter how many months did Arjun join if the profits at the end of the year are
/?

rrect Answer) (Chosen option)

).4 Marks: 1.00

Bookmark
atank in 756 minutes and Pipe B can empty the same tank in 945 minutes.
ire opened together, how many hours will it take to fill the empty tank?

srrect Answer) (Chosen option)
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Bookmark

ter must be added to 220 litres of 80% solution of acid to reduce it to a

f acid? (In litres)

>orrect Answer) (Chosen option)

).6 Marks: 1.00
Bookmark

y and mean - median = 242, then find the value of mean.

>orrect Answer) (Chosen option)

)7 Marks: 1.00
Bookmark

eight of 45 telecom towers which are arranged in an ascending order is 274
ige height of first 22 telecom towers is 274 m and that of last 22 telecom

m, then what is the height of 23" telecom tower? (In m)

>orrect Answer) (Chosen option)

).8 Marks: 1.00

Bookmark
two years what will be the compound interest at the rate of 10% p.a. onan
6600? (InRs.)

(Correct Answer) (Chosen option)

).9 Marks: 1.00

Bookmark
is X% less than 40% of 590, find x.

%
%
% (Correct Answer) (Chosen option)

).10 Marks: 1.00
Bookmark
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)11 Marks: 1.00

Bookmark
er started a business. K invested Rs.6900 for 3 months, L invested
months and M invested Rs.8000 for 5 months. If they get atotal profit of
he share of L. (InRs.)

(Correct Answer) (Chosen option)

.12 Marks: 1.00

Bookmark
5 23 black shirts, 22 yellow shirts and 24 red shirts. If 2 shirts are drawn
t is the probability that both of them are black?

2
2
2
2 (Correct Answer) (Chosen option)

)13 Marks: 1.00

Bookmark
fill of Rs.50400 for his two sons whose ages are 17 and 18 years. They
il amount s when they are 20 years at 10% compound interest. Find the
of the younger son. (In Rs.)
)

)
)
) (Correct Answer)

.14 Marks: 1.00

Bookmark
+ good a workman as Bernard and together they can finish the same work in
~v many days will Ayden alone finish the same work?

srrect Answer) (Chosen option)

).15 Marks: 1.00

Bookmark
rtain number is 1900, then what is 85% of that number?

(Correct Answer) (Chosen option)
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the area.

(Correct Answer) (Chosen option)

.17 Marks: 1.00

Bookmark
5 13 black, 11 blue and 12 red pens. If 3 pens are picked at random, what is
'that all the pens are red? (Upto two decimals)

Correct Answer) (Chosen option)

).18 Marks: 1.00

Bookmark
‘ference between a discount of 20% on Rs.25000 and two successive
4% and 6% on the same amount? (In Rs.)

>orrect Answer) (Chosen option)

).19 Marks: 1.00

Bookmark
pal (Rs.) when simple interest = Rs.3705, rate = 10% p.a. and time = 3 years.
)

)
) (Correct Answer) (Chosen option)
)

).20 Marks: 1.00

Bookmark
wee numbers is 23:24:25 and their sum is 2664. Find the second number of
bers.

>orrect Answer) (Chosen option)

).21 Marks: 1.00

Bookmark
d X1 Express are two trains of 715 m and 685 m long, run at the rate of
175 km/h respectively on parallel rails. How many seconds will it take for
ain to pass the first train if they runin the opposite direction?
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).22 Marks: 1.00
Bookmark

sontaining 31 litres and 43 litres quantity of solution, have milk and water in

116 and 26:17 respectively. If the solutions are mixed with each other, then

's of water has to be added in the final solution to make the resulting

ratio 1:1? (In litres)

rrect Answer) (Chosen option)

).23 Marks: 1.00
Bookmark

it a speed of 121 kmph and she reaches the destination in 24 hours. Find

ihe covers.(in km)

(Correct Answer) (Chosen option)

).24 Marks: 1.00
Bookmark

eris 635, find 9/20 of the same number.

(Correct Answer) (Chosen option)

.25 Marks: 1.00
Bookmark

1 sale of Rs.7045, Rs.7537, Rs.7465, Rs.7840 and Rs.6872 for 5 consecutive

nuch sale must he have in the sixth month so that he gets an average sale

nRs)

(Correct Answer) (Chosen option)

).26 Marks: 1.00
Bookmark

apit in 190 days. If aboy is twice as efficient as a girl, then 3 girls and 1

similar pit in how many days?

>orrect Answer) (Chosen option)
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).28 Marks: 1.00

Bookmark
overs a distance of 7685 metres in 53 seconds, find the speed of the

iph)

>orrect Answer) (Chosen option)

).29 Marks: 1.00

Bookmark
th 775 mwhich travels at a speed of 108 kmph crosses a tunnel in 60
the length of the tunnel. (In metres)

(Correct Answer) (Chosen option)

.30 Marks: 1.00

Bookmark
nates 19% of his savings to an old age home, 23% of the savings to an
| 21% of his savings to foundations for medical help. The remaining amount
vings is deposit ed in bank. Find the salary of Dhanasekar, if 40% of the
vings amount .(In Rs.)
)

) (Correct Answer) (Chosen option)
)
)

).31 Marks: 1.00

Bookmark
f 55 numbers is 273. If two numbers 268 and 278 are discarded, find the
: remaining set of numbers.

>orrect Answer) (Chosen option)

).32 Marks: 1.00

Bookmark
wn from a cask full of wine and is then filled with wat er. T his operation is
>e more. The ratio of the quantity of wine now left in cask to that of the

| [ [P SURPY R RS DN iy SRSy P R I [t U R | e 4 IO TR |
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).33 Marks: 1.00
Bookmark

atank in 807 minutes and Pipe B can fill the same tank in 1614 minutes. If

opened together, how many minutes will it take to fill the empty tank?

>orrect Answer) (Chosen option)

)».34 Marks: 1.00
Bookmark

thik enter into a partnership. Hari contributes one-third of the whole capital

wtributes as much as the contribution of Hari and Karthik together. If the

nd of the yearis Rs.1,11,000, how much would Karthik receive? (In Rs.)

)

)

)

) (Correct Answer) (Chosen option)

).35 Marks: 1.00
Bookmark

tains milk and water in the ratio 8:7. If 20 liters of water is added to the

nd water in the mixture becomes equal. The quantity of milk in the mixture

>orrect Answer) (Chosen option)

).36 Marks: 1.00
Bookmark

ixture contains milk and water in the ratio 37:38. How much milk must be

mnixture so that it contains milk and water in the proportion of 3:2? (In litres)

>orrect Answer) (Chosen option)

.37 Marks: 1.00
Bookmark

ould come in the place of question mark (?) in the following equation?

1+ (0.0015+ ?) + (0.006 = 0.02) =0.9

5

(Correct Answer) (Chosen option)
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/41)
/41) (Correct Answer) (Chosen option)
/47)

).39 Marks: 1.00

Bookmark
f 10 scores is 53.5. In this the average of first three is 51 and the next four
jhthreading is 20 less than the ninth one and also 14 less thanthe tenth
the eight reading?

srrect Answer) (Chosen option)

).40 Marks: 1.00

Bookmark
450 earns an interest of Rs.1780 in 8 years at what rate of simple interest?

orrect Answer) (Chosen option)

).41 Marks: 1.00

Bookmark
‘ference between the compound interests on Rs.8000 for 1 year at 6% per
unded yearly and half-yearly? (InRs.)

orrect Answer) (Chosen option)

).42 Marks: 1.00

Bookmark
ce of an article becomes 22/20 times the listed price due to the inclusion
ind the rate of sales tax.(In %)

srrect Answer) (Chosen option)

.43 Marks: 1.00

Bookmark
es appeared for an examination, of which 2184 passed. Find the pass

Correct Answer) (Chosen option)
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)1 xv86.49 + v9.61) x (V3844 + v9.61 xv86.49 + v9.61)=?
srrect Answer) (Chosen option)

).45 Marks: 1.00

Bookmark
of the following distribution: (Approximately)

26 28 31 32 37
35 40 40 45 50

(Correct Answer) (Chosen option)

).46 Marks: 1.00

Bookmark
ind S are inthe ratio 4:5. If the salary of each is increased by Rs.4500, the
»mes 13:15. What is the original salary of S?(In Rs.)

(Correct Answer) (Chosen option)

).47 Marks: 1.00
Bookmark

)is equal to:

)738

9728 (Correct Answer) (Chosen option)

)718

1748

).48 Marks: 1.00
Bookmark

f metal article whose market price is Rs.18250. He has to pay a sales tax
1the rate of sales tax.(In %)

rrect Answer)

. Aan RA__l__. 4 N"nNn


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

= |V

GET IT ON
Google Play

).50

come in place of question mark (?) in the following equation?
+6.15=67526

rrect Answer) (Chosen option)

Marks: 1.00
Bookmark

soning

)1

termin the given series.
,R31,?

Correct Answer) (Chosen option)

Marks: 1.00
Bookmark

).2

on, relationship between different elements is shown in the
his statement is followed by two conclusions:

<H<A=M>P>1>20>N

)propriate one from the following options
usion i follows

usion ii follows

follows

orii follows

i follow

rrect Answer) (Chosen option)

Marks: 1.00
Bookmark

).3

1the left end. If D is shifted three places to the right, then D will be at the

How many persons are there in the row?
srrect Answer) (Chosen option)

Marks: 1.00
Bookmark
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mi, Kani, Naveen, Banu, Meena, Jeni, Pintu and Rani went together for a movie and sat
ining eight seats(not necessarily in the same order) facing South.

hto the right of Pintu.

Rashmi sat close to each other but they are not the neighbours of either Pintu or

rd to the right of Naveen.
>se to Banu and second to the left of Rashmi.

).4 Marks: 1.00

Bookmark
reen Kani and Meena?

‘n

i
Correct Answer) (Chosen option)

).5 Marks: 1.00

Bookmark
hto the right of the one who sits second to the left of Rashmi?

‘n

a (Correct Answer) (Chosen option)

).6 Marks: 1.00

Bookmark
changes her place with Banu, Rani interchanges her place with Kani and
nges her place with Jeni, who sits second to the right of Banu?

Al

n
Correct Answer) (Chosen option)

.7 Marks: 1.00
Bookmark

ollowing is an odd man out, with respect to the given arrangement?

3, Rashmi

Aeena

Pintu

ni, Banu (Correct Answer) (Chosen option)

).8 Marks: 1.00

Bookmark
on, relationship between different elements is shown in the
his statement is followed by two conclusions:

M<O=<N=D<A<Y
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follows
orii follows
i follow.

rrect Answer) (Chosen option)

).9 Marks: 1.00

Bookmark
arsequence 23487657133 5,all the odd numbers are increased by
: even numbers are decreased by two, then the new number sequence is
:ending order, which will be the eighth number from the right?

rrect Answer) (Chosen option)

).10 Marks: 1.00

Bookmark
)oy in a photograph, a lady said, "He is the only child of wife of grandfather
ir' How is the lady related to the boy?

o
Correct Answer) (Chosen option)

)11 Marks: 1.00

Bookmark
term in given series.
ON, STITUT, ONSTITUTIO, TITU, ?

T

|

|

"UTI (Correct Answer) (Chosen option)

).12 Marks: 1.00

Bookmark
term in given series.
P, LATIONSH, ELATIONSHI, ATIONS, ?

5H
IS
IN
INSH (Correct Answer) (Chosen option)

).13 Marks: 1.00
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ollowing digits stands for 'snacks'?

rrect Answer) (Chosen option)

.14 Marks: 1.00

Bookmark
de language, if GRADE is coded as VKEIH, then how is RIVAL coded in that

X
P

'E (Correct Answer)
)

).15 Marks: 1.00

Bookmark
it given below is followed by assumptions numbered as 1 and 2. Look at
ts and decide which of the assumptions is/are implicit.
Jer as per below options:

mption 1 is implicit.
mption 2 is implicit.
nor 2 is implicit.
id 2 are implicit.

he doctor advise Mansi not to take the medicine if she has to work

1e might induce sleep.
le to rest after taking the medicine.

)sen option)
rrect Answer)

).16 Marks: 1.00

Bookmark
)oy, a lady said, " He is the son of my grandmother's only child's husband's
s brother" How is the lady related to the boy?

mMother

(Correct Answer)
(Chosen option)
or

.17 Marks: 1.00
Bookmark
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).18 Marks: 1.00

Bookmark
s in arow are facing North, A is 8th from right and B is 15th from the right.
hange the positions, what is the position of A from left if 25 persons are
w?

srrect Answer) (Chosen option)

).19 Marks: 1.00

Bookmark
de language, if HEAVEN is coded as EHAVNE, then how is PEOPLE coded
je?
EL (Correct Answer) (Chosen option)
OE
PE

EL

).20 Marks: 1.00

Bookmark
on, relationship between different elements is shown in the
his statement is followed by two conclusions:

P=E>R>=S=0<N=<A<L

)propriate one from the following options
usion i follows

usion ii follows

follows

orii follows

i follow.

rrect Answer) (Chosen option)

).21 Marks: 1.00

Bookmark
on, a statement is given followed by two conclusions numbered i and
)y assume everything in the statement to be true, then consider the
ans together and decide which of them logically follows beyond a
oubt from the information given in the statement.

Girls native to Seoul will definitely get married at the age of 23. Joon, a 24

Aaativia +A Cannill hae a cietarvAaiinAanr+a har vy 2 vaare
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follows
orii follows
i follow.

rrect Answer) (Chosen option)

).22 Marks: 1.00

Bookmark
it given below is followed by assumptions numbered as 1 and 2. Look at
ts and decide which of the assumptions is/are implicit.
Jer as per below options:

mption 1 is implicit.
mption 2 is implicit.
nor 2 is implicit.
d 2 are implicit.

/hen delivering a speech, use more metaphors and quotations instead of
jargons.

»hors and quotations can help bring your speech to life and keep the

iged.
. is also essential to form a connection with the audience.

rrect Answer) (Chosen option)

).23 Marks: 1.00

Bookmark
e written in the place of question mark in the given series?
718

rrect Answer) (Chosen option)

-24to0 27 400
the following questions, few statements are given and these statements are

vo conclusions numbered i and ii. You have to take the given statements to be true

3emto be at variance from commonly known facts. Read the conclusions and then

>f the given conclusions logically follows from the given statements, disregarding

wh facts.

iclusion follows
1clusion follows
7or (ii) follows

1 (ii) follow
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re men.
in are boys.

rrect Answer) (Chosen option)

).25 Marks: 1.00

Bookmark
\ll reds are pinks. Some pinks are browns.

re browns.
are reds.

rrect Answer) (Chosen option)

).26 Marks: 1.00

Bookmark
\[l wheat are browns. All browns are sugar. All sugar are whites.

: sugar.
re whites.

)sen option)

rrect Answer)

.27 Marks: 1.00

Bookmark
some buds are flowers. Some flowers are colourful.

ire colourful.
rs are buds.

rrect Answer) (Chosen option)

).28 Marks: 1.00

Bookmark
anding exactly in-between P and Q in a queue. P is 10th from the front of
Qis 11th fromthe end of the queue. P and A has 2 persons between
the total number people inthe queue?



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

of son-in-law of father of my son." How is the woman related to the lady?
r-in-law

er (Correct Answer)
iter

.30 Marks: 1.00

Bookmark
on, a statement is given followed by two conclusions numbered i and
)y assume everything in the statement to be true, then consider the
ans together and decide which of them logically follows beyond a
oubt from the information given in the statement.

he government has been supplying free drugs since 2014, and 75 thousand
)le have benefited up to now, though the size of the population affected is
i number.

ed person is benefited by the government's supply of free drugs.
2e drugs to the affected people is a nice scheme implemented by the
nent.

)propriate one from the following options
usionifollows

usion ii follows

follows

orii follows

i follow.

)sen option)

rrect Answer)

).31 Marks: 1.00

Bookmark
ughters-in-law of A and B whose sonis C. H is the son of F whose wife is E.
adto C?

r-in-law (Correct Answer)

).32 Marks: 1.00

Bookmark
e written in the place of question mark in the given series?
111

orrect Answer) (Chosen option)
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oD
DC
OC (Correct Answer) (Chosen option)

).34 Marks: 1.00

Bookmark
Is are replaced by the immediate next consonant from the English
s inthe word TRANSMISSION, then the letters of the word are arranged
which letter will be fifth to the left of the fourth letter fromthe right?

irrect Answer) (Chosen option)

-35t0 39 5.00

following questions, a few statements have been given. Analyse the given
1d answer whet her the data given in the statements are sufficient to answer the
t.

le statement | alone is sufficient to answer the question.
le statement Il alone is sufficient to answer the question.
irinthe statement | alone or statement Il alone are sufficient to answer the

1inboth | & Il together are not sufficient to answer the question.
th statements | & Il together are necessary to answer the question.

).35 Marks: 1.00

Bookmark
n of ages of A, B, Cand D is 91. What is the present age of A?

of Aand B is 45.
s of B and Cis 46.

rrect Answer) (Chosen option)

).36 Marks: 1.00

Bookmark
oamong P, Q, R and S is the youngest?

inSsS
rthan Q but olderthanR and S

rrect Answer) (Chosen option)
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ar of D who is married to N.
erand M has 1 sister

rrect Answer) (Chosen option)

).38 Marks: 1.00

Bookmark
at is the profit percentage earned by selling an article at the rate of

f the article is 2000.
1e article Rs.500 more that the given selling price, the profit earned would
cost price.

)sen option)
rrect Answer)

).39 Marks: 1.00

Bookmark
»T1 and Tap T2 together can fill a empty tank in 15 minutes, find the time
I'1 alone to fill the empty tank.

ot and Tap T2 is an outlet.
empty the filled tank in 20 minutes.

rrect Answer)

)sen option)

).40 Marks: 1.00

Bookmark
it given below is followed by assumptions numbered as 1 and 2. Look at
ts and decide which of the assumptions is/are implicit.
/er as per below options:

mption 1 is implicit.
mption 2 is implicit.
nor 2 is implicit.
id 2 are implicit.

on't judge a book by its cover.

a judgment about someone or something based on its outward appearance.
)k after reading the content.

)sen option)
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ts and decide which of the assumptions is/are implicit.
Jer as per below options:

mption 1 is implicit.
mption 2 is implicit.
nor 2 is implicit.
id 2 are implicit.

1spite of having free public transportation, people prefer using their own
Isport.

cle are cheaper than the public transport fair.
not find it convenient due to poor maintenance.

rrect Answer)

)sen option)

).42 Marks: 1.00
Bookmark

-of B whose grandmother is C. D, the only son of C, has only one sister E

ile child. How is C's daughter related to B?

mMother

er (Correct Answer)

.43 Marks: 1.00
Bookmark

on, relationship between different elements is shown in the

his statement is followed by two conclusions:

1>A=zD<|;N>0=S=>|

)propriate one from the following options

usion i follows

usion i follows

follows

orii follows

i follow

rrect Answer) (Chosen option)

-44to 48 5.00

ead the given information carefully and answer the questions that follow.
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ple sit between Arun and Celin, counting to the left of Celin?

rrect Answer) (Chosen option)

).45 Marks: 1.00

Bookmark
anges his position with Celin, Felix interchanges his position with Esha, who
1 the right of Celin?

Correct Answer) (Chosen option)

).46 Marks: 1.00

Bookmark
tly opposite to Bala?

Correct Answer) (Chosen option)

.47 Marks: 1.00

Bookmark
nd to the right of Felix?

Correct Answer) (Chosen option)

).48 Marks: 1.00

Bookmark
e immediate left of Arun?

Correct Answer) (Chosen option)

).49 Marks: 1.00

Bookmark
on, a statement is given followed by two conclusions numbered i and
)y assume everything in the statement to be true, then consider the
ans together and decide which of them logically follows beyond a
oubt from the information given in the statement.
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usion i follows

usion ii follows
follows

or i follows and
i follow.

rrect Answer) (Chosen option)

).50

on, a statement is given followed by two conclusions numbered i and
)y assume everything in the statement to be true, then consider the
ans together and decide which of them logically follows beyond a
oubt from the information given in the statement.

very kid must practise to drink a litre of water daily.

‘e of water is good for kids.
rink a lot of water in Summer.

)propriate one from the following options
usion i follows

usion i follows

follows

orii follows

i follow.

rrect Answer) (Chosen option)

Marks: 1.00
Bookmark

@6 Oe - 99Ia G2 ?
@& (Chosen option)

=

@@ (Correct Answer)
daie

Marks: 1.00
Bookmark

).2

106 @'61 ?

Marks: 1.00
Bookmark
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ARY6Q 29I 'GITGT 60R FG ?

(Correct Answer) (Chosen option)

).4 Marks: 1.00

Bookmark
AR GRC @'61?

orrect Answer) (Chosen option)

).5 Marks: 1.00
} Bookmark
66 ARRIIR IR AQIRRE! ?

sorrect Answer) (Chosen option)
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